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QUESTION 1

Regardless of the distribution of the individuals, the distribution of the average of n samples will follow which distribution
as n becomes large?

A. Normal

B. Poisson.

C. Exponential.
D. Lognormal.

Correct Answer: A

QUESTION 2

Which of the following distributions have the set of all real numbers as their domain?
A. Lognormal

B. Exponential

C. Weibull

D. None of the above.

Correct Answer: D

QUESTION 3

When used together for variables data, which of the following pair is the MOST useful in preparing control charts?
A. AQL, p-bar

B.p,n

C. X-bar and R

D. R, sigma

Correct Answer: C

QUESTION 4
The weight of paint cans is considered

A. Discrete data.
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B. Continuous data.
C. Random data.
D. Probability data.

Correct Answer: B

QUESTION 5

Given the following probabilities

1 or more defects = .70 2 or more defects = .35 3 or more defects = .15 4 or more defects = .03
What is the probability of 2 or fewer defects?

A.0.20

B. 0.35

C.0.65

D. 0.85

Correct Answer: D
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